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1. RHu1�þ: p83. 5(1)(2).
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2. (a) é k ∈ Z≥0, ¦J4(0)
k�JordanIO..

(b) y²µé k ∈ Z≥0, �3 i ∈ N ¦�Jn(0)k�JordanIO.�d (ik + k − n)�

Ji(0)Ú (n− ik)� Ji+1(0) |¤�©¬é�
"

(c) é n, k ∈ Z≥2, ¦y: Ý
�§Xk = Jn(0)3Ã).

3. �A,C ∈Mm(C), B,D ∈Mn(C),

-U(A,B) = {X ∈ Cm×n : AX = XB}���E�5�m.

¦y:

(a) eA ∼s C,B ∼s D, �E��U(A,B)�U(C,D)��5Ó�.

(b) ∀f ∈ C[t], U(A,B)´U(f(A), f(B))�f�m.

(c) eSpecC(A) ∩ SpecC(B) = ∅, KU(A,B) = {0}.

(d) eSpecC(A) ∩ SpecC(−B) = ∅, �A2 = B2 (d��m = n), KA = B.

(e)£À�¤dimU(Jm(λ), Jn(µ)) =

0, λ 6= µ,

min{m,n}, λ = µ.
.

(f)£À�¤�{p1, ..., ps}�A�Ð�Ïf|, {q1, ..., qt}�B�Ð�Ïf|. K

dimU(A,B) =
s∑

i=1

t∑
j=1

deg gcd(pi, qj)
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